Stage P (kPa) T(C) v (m”*3/kg) | u (kJ/kg) h (kJ/kg) X
1 101.42 100 0.2851 773.85 802.76 0.17
2 101.42 100 0.4332 958.8 1002.76 0.2586
3 1000 100 0.001043 419.06 419.17 -
4 1000 600 0.40111 3297.5 3698.6 -
5 10 600 40.296 3303.3 3703.3 -
Process Q (kJ) W (kJ)
1to2 1000 75.25
2to 3 -2917.9 -219.2
3to4 16397 2004.8
4to5 9315 9286
T [C] P [kPa] vy [m’/kg] u [kJ/kg] h [kJ/kg]| X [] State
0.001029 334.97 335.02 - Compressed liquid
618.28 0.1490 1589.9 0.4834 | Saturated mixture
800 0.35442 2878.6 - Superheated vapor
71.36 31329 3489.7 - Superheated vapor
500 35.68 3489.7 - Superheated vapor
190 1255.2 0.1051 2132.6 Saturated mixture
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